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a.append(str(ord(c[i]) (m[i])))

print(m,end )

(5,1en(c)):
c[i] :
print(chr((ord(c[i]) (a[i%4])

else:

print(c[i],end )
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import string
import collections
import sets, sys

[cl, c2, c3, c4, c5, c6, c7, c8, c9, c19, cll]

def strxor(a, b):
return "".join([ €9) (y)) for (x, y) in

def target_fix(target_cipher):

final_key [None]*15@

known_key_positions

for current_index, ciphertext in (ciphers):
counter collections.Counter()

(a, b)])
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for index, ciphertext2 in (ciphers):
if current_index index:

for indexOfChar, char in (strxor(ciphertext.decode( ), ciphertext2.decode(

if char in string.printable and char.isalpha(): counter[indexOfChar]

knownSpaceIndexes [1]

for ind, val in counter.items():

if val 7: knownSpaceIndexes.append(ind)

xor_with_spaces strxor(ciphertext.decode(
for index in knownSpacelIndexes:

final_key[index] xor_with_spaces[index].encode(

known_key positions.add(index)

final_key_ hex .join([val if val is not None else for val in final_key])
output strxor(target_cipher.decode( ),final_key hex.decode( ))

print ( )

print (''.join([char if index in known_key positions else for index, char in (output)])

target_plaintext
print ( )
print (target_plaintext

key strxor(target_cipher.decode( ), target_plaintext)
print (
for cipher in ciphers:

print (strxor(cipher.decode( ), key))

print ( key

for i in ciphers:

target_fix(i)
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